!

PARALALSISBS S eSS I E Ll

o

V< 4

Teton Hida

*Om 3 Ho poat  Homeanct
£ Jeton Hda, AS‘ngnmen'\' \H, IC)/aS/Q_\

-

[« x(n) = s (n-1) -rvd(h ;) - e (x J\ (X-*:)L‘ e , X +J ‘/q)
\)\(h\— s(n- 12 +d(h—|\ /0|

X= X 3 Yie RN '/c\
/Q :)O | d |/q ..\7 )
=="_"/9_ )("’"" I/3 | ’

AT ('/s —{.z\ (Y3, (s, -‘/;\7
Sed 0—9 -C o\v\%

el o AR WIENI
5=(3x 8;3 = (2 ‘d)

‘3(1/3‘\/&\1= (Q/l \/ZZB o’e‘—(’) ‘/1> C)

3 |
(1-3)> -V =
(1-k) =
A=(1-0BY (: 7s )
5\ﬂce, no-\ Q\\ eQ \)\\m 4 \ (VS \/3.\ TS onstble

|

=Y SV S
S (%) = @‘3 aWE det (% =0
TN+ VA =10 ) o R

|-\ = £ VA
A= l‘lea., ,+C\r‘/,1
A o | Pl e
Q-\—ﬁu ‘ h

e o’ +/3Q?< \ = staloe*

@G = % | u;mm& EAY



:SC"‘/3 '/Q_S = (l '/3- S
Vo 2/3 l
dela( “/% ) =0 > (\ ANV =0
i L= 2 Vs
& ‘A' |2 Vs L
123" = ¥ 517 (ngtae o (Vs '4)

\
Y (-Va -\(9_\ (L,S /a)
o)c+('a/'-\>—lb»'='6—> (-3 ) '/5’-@
N [ teas AT
PE 1*&/% ’
S\ncc; not oWl A 2 (- '/3 —\/,;_\ s uherab‘e

s X %> mod 1 _
[ om R "3s10  H=d ™

el §> 2 6> - ]3> 4
v (2,%,27 = 7 ¢ E"",,(S;Lrj
% 3 JE
o T S sl A U308, BT oo
S=( 6= 12 =3 D=2
G+ |2 : PEAT ' 3= 10 Q2= ¥
PEAL (l>5 S0y = [35.238]
W= 5 5> G u-="7T
[5,612,11,51 [G12,145,6 ] [73 [© \Lml
915 [CERS u»s | 125 1)
15 9 M s . - =/ 25§ : 1 =5
[9.(597 723 _ 631 TS =
3 =10 | \2 » 1l G =212

Dewm3lel 5.6 D56



L

1D -4 4 =% DT Rcnd D
W =13 =3 g5
L1313 3=10 059,51
10 > Y
Dql"l,’j,b,l"rl'
|Gq ,(O
0661
i N?).. 'Tu;‘(n\x
L. w=2 -

Nz 2\ L{aD=21 ()i -

Ty ()= 2l-1a =09 - P

To (04) = 10-062 = 3\ [0%, 1,63 217,45,007
T;_US\\ =N-18 =G> . § f s T
T, (63) =63-36 =21

TZlca y= "Tk- 87 =45

T (15 = 54 -45 = OF

n= 11 L(M)="1) (M) =17
Ta(17> ="U-17 = 5
Tal34) = 54-45 = 0% PO=( T
oD =90-0t=38  [0%,8],¢327x5,02]
Ta(3D) = -\ =¢3

Tol63) = 63-36 = 27

Ty (9%) = 7122 =45
| Ta. (15 )=51-45=0%

3



- 'j]j (Li:i \ LU= S(yud=yY
2 () =Yy-y4 =g ”
T2 (00) = 68-00> =qp £oresd

N=29 ((2)=92 3(a1d=27

T2(29) = $12-29 =¢3 |

CTal63)=63-3¢ =21 g
(Ta (2 E 22-20 =45 [¢3,21,45,09,%) 631
T l45) = 54-45 =09 |

(0% =90-0%=28

T (%1 =81-18 =63

n= 56  [L(5¢)=65 3(5¢>=5¢
Ta [56)=65 - 5¢ =07 |
T2 (09) =90-0% =3I 704.81,63, 21, 450] @
7o (30)=81-18=65
T ((3)=63-36=2T -
"TQ_ (@21\ =\72—2‘7='—15‘ 19 )
Tal45)=54-¥5=09 or o 1o,

n=82  LBD)=8L $(8) =38

Ta(82) = §1-23 = 54

T [5%) =54-%5 =R
T2(0%) £ 9] = ¢ LT c
Tal3) =63 J0%, 81,63, 27,459,097




n=95 2(15)=99 $£A5)=51

To(95)= 95-59 =3¢ -

Ta(36)=63-36 = 21

Ta (21D =45 AR

Ta (45) = 09 [0, %5 -OF; g1,:6F, 27]
Ta (0%4Y = 31 , -

T2 (8 = (3

Ta(63)=27

n= 1 L) =U0 Sy Y= |u
v;(m Ln M = 27
T2 45)= &% v Jan, 45, @9 %t €3, 20
B[o?} = 8 3
T (31)=C73 |
T (o) = 35

0= 37 L(31)="73 3(37)=3%

To(37) = 53R 20

T= (36 )= % Palls o |
Ta (2D)=45 L2145 09,81,63,277
Ty (H5) = OF | J& o
/;)_[Oq} =&/ #

'7';,2[8)3 =63 Ry
Ta (&3 =a%

n=90 L(90)H=90 %mos—m _
Ta(90) = S SIS «
T (31 =63 '-.[/{63,2‘7%509,8/;7
T2 (63)=2%7 ' |
Ta (A7) = 45

Ta (UD) = CH

T2 (09) = P



Lle 1= 2= lane T
-“"\9 i yean, e(u'.zx—un :
5 (12N = 21t 112-?‘? ' :
_’5 (O‘m =990 -099 = 3;\ "
(897) =9%1-182 = 192
Tz (n92) =712 - =613 [H95,L/?57
T (6?33 94,3 - 369 = o™
15m = g5 - 459 = 495

066868688008 ¢ Q¢

3

,3(L,qb) Q54 -u457 = tr?b
n=973 ,

- 973-377= 594 ‘ =
N U e sl St gl
‘%{H‘?b) 95 Ep=lis) o »

= 718

, (ma)« g71- 78 = 1> |
ok '
;((6%553 Eﬂb LH‘?b L/%Y

T3 (195) = 175

) _
i (33403 C30-036 = DI

s59u) = 415 495,495 7
—%(Umﬁ) 495 O

' AAAALRARALLLL!

A

25" ‘9
T, (357> = 752-25%7 = 415

a5 =195 L4540



COLLLALOL LI TTTTTT

W

>

e, Wy=h
N=202)\ |
Tu(2020) = 2200 @2l = 2038 .

T T (203%) =8%20- 02%3 = 2532
C T (3532 = ¥530 2358 = GITH: [G179,6174 ]

Ty (Gl )= %Ln-wm c,;w
n=%G U\ |

T GO = 8CH— LG} = 111
Co TweEMMRN = MGl B A T 5958

- Ty (5958) = 93555589 = 4266

T R20e) = (OHASTHEC = g oo =

T (4016 = 764 - 167 = 61’7'—1 [GIVH c;wj

D

Tl (Gl = G
n=999\

Ty (9991 = 9700 - 1927 =992 7 - |
T"l (*1"1?;\ =9973-219¢ = “7|*73

! -}j("l!"l?) ~ HiH4 . &

(5998) - H2¢6 | = (
Ty (w:ze@ U476 LC1T0 I |
T (m"/é) Gl'7H |
'ﬁ,[é/'ﬂf = GI'74

n 0 30
P23 iTaldeven = =
n= 226G Nn=" UL =0
AR Rl Q= 7> 26 Lo
|3 > 20 | = & XE =1 L > |
R0 > 10 [2)27T (> > 20 | < 2
e = 5 20 > 1O e I e 1 ¢
5 >3 10 >5
34 53
n~=a Ha2



[> read "/Users/jeton/Desktop/Math 336/M14.txt"

> #Number 4
> RevOpTr(134,3)
[134, 297, 693, 594, 495, 495 ]

> RevOpTr(590,3)
[590, 891, 792, 693, 594, 495, 495 ]

> RevOpTr(619,3)
[619, 792, 693, 594, 495, 495 ]

> RevOpTr (495, 3)
[495, 495

> RevOpTr (999, 3)
[999,0,0]
> RevOpTr(210,3)
[210, 198, 792, 693, 594, 495, 495 ]

> RevOpTr(1234,4)
[1234, 3087, 8352, 6174, 6174 ]

> RevOpTr(3902,4)
[3902, 9081, 9621, 8352, 6174, 6174 ]

> RevOpTr(2001,4)
[2001, 2088, 8532, 6174, 6174 ]

> RevOpTr (4444,4)
[4444,0,0]

> #For T3, 495 and O are fixed points. For T4, 6174 and 0 are fixed
points.
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